TCSS 342 In-class exercise (10/04/04)

(revised 10/5) 

Exercise 1: What is the running time (expressed in Big-Oh notation) of the following code fragment?

sum = 0;

for (i = 0; i < n; i++) {

  for (j = 0; j < n * n; j++) {

    sum++;

  }

}

Exercise 2: What is the running time (expressed in Big-Oh notation) of the following code fragment?

sum = 0;

for (i = 0; i < n; i++) {

  for (j = 0; j < i * i; j++) {

    for (k = 0; k < j; k++) {

      sum++;

    }

  }

}

Exercise 3: What is the running time (expressed in Big-Oh notation) of the following code fragment?

sum = 0;

for (i = 0; i < n; i++) {

  for (j = 0; j < i * i; j++) {

    if (i==0 || j % i == 0) {

      for (k = 0; k < j; k++) {

        sum++;

      }

    }

  }

}

